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He omitted 11»u — AW W

Overview

The X n3 says that the Xn>12 does not mention all the nmm mM21p, but
rather omitted some. Among those omitted is the 77 of 1Y, which is 7LD by
WX and is 2°11 by M21 M. Our MdoIn will discuss the case of MY which is
21 by M.

The ®Xn»92 omitted 1MY; meaning it could have included 1»Y amongst the MMM M7p of
WX versus M2 MY -
— 2N 912) NIV YNNI NV9YT

For 11v is 9149 by wi; however by ™12y 2w, there 11nv is 2%7.

What are the cases of 110 by 7121 11W; where they are 217 -
— 192 0995 XN PYA IV VYA 1D DIVIHIPH YD

So "w9 explains that for instance if an ox kicked a sack full of utensils

and he broke them (that is an example of 10 by MW; the utensils are 11V in the
sack) -
— 2550 NN XYM PV 33 593 ON 19

And similarly if a sack full of grain fell into a pit and were (lost or)
damaged2 (this 1s an example of 1Y by 712); in both these two case of 1Y,
the 71277 S¥21 Wi Hya are 257,

mooIN criticizes "W interpretation of MY by M1:
— D75 1195 9127 9NN DOVYNIN DN YOYA INDT D91 HIT PT R)

And "1 was not precise when he used a 7X1an X2» pw as an example of
1Y by M12) for we exclude all things that are not alive (that they are 709

by M2) from the word =vam which is written by >3, just as we exclude a%92
by "m2. The grain in the sack is considered 2°2 and the ™27 9¥2 would be 7w for
damaging them.

mooIn proves his point that anything which is not alive is considered 2°%2 by Ma:
— 99 NINY NP9 INND 191991 YWINANI 912D Y93 %3) (3,n 97) N9 9ID2 9INTD

"It seems that >"&1 mentioned X120 by ™2 as opposed to 2°73 by T, since 2*23 are MWD by 2. *"wI
seemingly does not consider X120 as 0°75 (see following footnote # 2). However mooin disagrees.

* They became dirty and it needs to be cleaned which requires some effort. See “Thinking it over’.

? The 70 writes (32,82 [2*bown] mnw) by 2 that 2vam R MW 7w 291 (the word W comes to exclude DR,
and) the word i excludes 0°%3. The exclusion of 0°%3 is not limited to utensils only, but refers to
anything that is not alive like a 1.
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As the X713 rules in the end of 719577 P75 concerning the case where an ox
fell into a pit and contaminated the waters of the pit, after falling into the

pit4; that the 71w Yv2 is 2w for ruining the water, as the X3 there explains -
:1 095 0 Y2 MY MHNT OIYN

For the falling ox is deemed to be a =12 (it is damaging the water while the

P11 is immobile) and the waters which were damaged are 2%, and a 112 (in
this case the W) is 7o for 295 *pri. We see from that X n3 that water (which is certainly
not a utensil) is considered 0°73; therefore anything which is not alive (including nX12n) is
considered 03, and is Mws by 2.

Summary
712 is M1 for all damages to inanimate objects (including grain [and water]),

and is only 2»11 for damages to a °r ¥2.

Thinking it over

The 7127 Hva is Mo if a person was killed in his 712 since the 710 writes MW
07X X21. However this exclusion does not apply if the person was hurt in the
T12; then the 727 9va is 2>°n. By 0°%5 however the M2n Hva is always 109
(from the w7 of 292 X9 Mnn) for by 292 we say that jnnon 71 Jn2W.
Based on this, we can perhaps defend >"w", and differentiate between (2°93
in general and) 12’ wX27 and our case® where the X120 was (merely)
soiled %n the 72 (and the damage is limited to the reduced price of the soiled
grain).

* When the ox fell into the pit, it did not ruin the waters immediately; but rather it ruined the water after a
period of time had gone by.

> It would seem that according to mooIN the 1MW that is 21 by 12 must be in a case where an animal that
was hidden in a sack fell into a 2.

¢ See footnote # 2.

7 See >"22. See also 7"210.
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